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“AIRYEE 2,114,0002*12.81% 27
-1ELE 59,625,000& *1.75% 1,044
“CHHEE 59,625,000 1.004% 599
OAITHAI 2 AT & 2tel 212 Y 320,849
123 78,88021%1124%25024 216,920
-EEay 78,880%!%1124522! 45,120
MBI BESY
120,520« 11E* 122 15,909
—2HAlH| 2,0003 x11H 250! 5,500
-wWSEXH| 50,0002 x11E 10 5,500
-=2H=3 283,449,000 *4. 5% 12,756
A = 283,449,000 *3.545% 10,049
“AIQAYEE 10,049,000 *12.81% 1,288
-1ELE 283,449,000 *1.75% 4,961
~SHEE 283,449,000 *1.004% 2,846
2ot2 A 27,243 39,446 12,208
tR2teld] 9,136 11,636 2,500
Odgt+==H| 2,900
=R2% 72843 78 100,000 42 400
-SEY 28228 7Y
200,000 x55*22] *50% 1,000
-AJEA Jt2ete 2elg M e
15,0003 * 100722/ *50% 1,500
OsEHY Sl
8,0002 x4 x4« 123 1,536
Oogxz 4,700
2SR EX 8=
3,500,000& 1 3,500
-2AEE 2 Il EX=
50,000 xBAI 2++32] 1,200
02 s3=gHl 18,107 27,810 29,703
OZ332= 2 HMAl 7,200
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OAIZZEH| Sl 9,587
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150,000 x2&*23] 600
-Z20% Hdlx2(ESH 2 15)
300,000& 2523 1,200
-2RQE SHEIH|(3EY, FHHS)
1,000,000 100 &~ 1,000
AR &S A2 (A=, 2EH2l)
200,000 *574 1,000
20 ANSHHEX SANE+
300,000& *2= 600
-S| 7&Fdl 5,187
-8R 1,6302 %100 £ *3& 489
2 YR 1,7402 300 £ 9 4,698
202 04d| 600 900 A300
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O3pgatg 2R A& A 2t2/044|
200, 0003 *3H #22| *50% 600
206 =8| 50,200 164,200 A114,000
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25,0002 *20Z *50% 250
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OJ2Z2 HEE 32 & HAY EX M= 16,375
-2 JdEE PCSE 3t=
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-ADHR D12 & 20182
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-2 28E LR
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-S4l - AL OlHIERIH EX M=
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&€l RS 2l (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
“ERHYT =7 =2 oAl
8,000 x30H 5 1,200
Oul=H| 1,200
-RENSE 22X LIS
100,000 12 %23 %50% 1,200
2 S5=24g4l 59,074 67,125 A8,051
O=32=  HMAl 3,694
-SESFA0HL) FaE =1 »5
15&200,000L*12] 3,000
ML= HHEEE
100,000 *1JH 2+ 13] 100
-SEEA HIYE SARe=s
4,950 *100H 2% 123 594
OAlZ &8I Xl 54,380
DAzl SATY IiE S(51LR)
1,740 »200L+ 10 3,480
Oagegz szl (QLAH)
120,000& *20S 2,400
-SEU AHAIE RIL=(C2, H2H)
500,000 * 109K 2 5,000
-SESEA A E=HI(2E, &I, S8
S) 500,000 * 107 A 5,000
-ZABE FBEY SN2
20,000,000 * 14| 20,000
-SEAEE(EX, 23717 S) KAzl
30,0003 %200 6,000
-S| WFHIIS SBEEl eIl (0lF
Jlel) 150,000 +20CH 3,000
-SEdESE 283 A
500,000& *20H 2-*22] 2,000
-LSH? Y2 0TV 7A2el
2,500,000 * 104 2= 2,500
-=IHE 2eld RAEs
5,000,000 * 14 5,000
Ogx=tie SH 28Xl IDIFE=
100,000& 1024 1,000
202 04l 800 900 A100
01 =LHAHI 800 900 A100
O=da&e| RFAtell dAXAS 22101
200, 0002 +4 & x22| x50fk 800
206 M=Hl 23,750 42,750 219,000
01 M=8l 23,750 42,750 219,000
OMEHI 23,750
-2d= AlHIE HIg 7Y
25,0002 * 100 50% 1,250
~RLABH £2 HHSLH AHTY
15,0002 *55*1009H*50% 3,750
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01 Al&H| 185,500 260,000 74,500
Ogguzd AgRe 2227
10,000, 00021074 A+50% 50,000
ORZNBA ZE42 XL
70,000, 0003 * 141 %50% 35,000
ORLHBA ANSSLSHTAL B
56,000,000 x14! 56,000
Ok= BN € 2317 uA
21,000,000 *141%50% 10,500
OB B33 A4 2=
4,000,000 = 14! 4,000
ORgdt & W ADERIX] £X
30,000,000 x14! 30,000
405 XHAHE SHI 6,450 3,350 3,100
01 AL =S F=H| 6,450 3,350 3,100
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-SAWF I 350,000 *5CH 1,750
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S RGN 223X 243t A 1,012,900 0 1,012,800
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= 202,580
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OHHe! SH SH &4
1,012,900,000& *14] 1,012,900
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= 202,580
Al 303,870
& XA st 1,874,661 3,088,552 1,213,891
= 395,232
= 246,318
Al 1,233,111
AEEE MHlA Zst 23,5850 75,180 251,630
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01 AtS2t2ltl 5,710 8,200 A2,490
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1,500,000 12| +50% 750
ouzta 2,000
MM B UXR
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1,2002%60 £ =10 720
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OO 438 L DS 20|
200, 0002 x4 +53] %50% 2,000
206 Tl 7,500 35,000 A27,500
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2y ASHAE +2 2
50,0002 *3005=+50% 7,500
301 EetE2 NS 400 400
14 0Bt 2as 400 400
OLSAH(MES)EH 2FX oM MSX
oy 200,000 2 400
405 AHaHE = 2,000 14,200 12,200
01 It =S F = 2,000 14,200 A12,200
OLEAY =8 &g 3| ¢ 2,000
—0iIF01 350,000 *3H 1,050
-JIHS 950,000 *1H 950
AHE THOH Oll'2t 551,649 631,874 N80,225
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Al 328,797
AHETHOH L Kt SOI(AEXS0ILEISITH) 320,147 300,061 20,086
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= 38,423
Al 163,663
101 @12A4H| 300,392 280,308 20,084
= 120,157
= 36,051
Al 144,184
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3 Mg G
Che: A2 THOH Ol & EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 24,879
=S 7,464
Al 17,415
101 21AH| 49,758 41,610 8,148
= 24,879
= 7,464
Al 17,415
04 JIZtN2 2N S 2+ 49,758 41,610 8,148
QMRS OIZYHSHRY, AT
2,487,900 2E 102 49,758
= 24,879
= 7,464
Al 17,415
2otENE Al 10,221 32,120 A21,899
= 5,235
= 1,496
Al 3,490
401 AlZHIZ 2018 10,221 32,120 A21,899
= 5,235
= 1,49%6
Al 3,490
01 A& 10,221 2,120 £21,899
2 3 5 R (38ha)
10,221,000 x 14} 10,221
= 5,235
< 1,49%
Al 3,490
e =388 K 5,000 5,000 0
= 2,500
= 750
Al 1,750
401 Al HIZL 01| 5,000 5,000 0
= 2,500
== 750
Al 1,750
01 Al&HI 5,000 5,000 0
OMEH QItxS HollE JSAS (200H4)
250,000 2004 2= 5,000
= 2,500
== 750
Al 1,750
ArETHO L Kt EOI(MEEHS NI HME) (A=) 1,282 0 1,282
= 640
s 193
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Al 449
405 KHoHFSH| 1,282 0 1,282
= 640
= 193
Al 449
01 ML ESFSHI 1,282 0 1,282
OLYHHE YR FH| 2o
641,000 =2CH 1,282
= 640
= 193
Al 449
SHAMEH S E 0l 2 14,969 14,125 844
= 5,987
Al 8,982
101 21AH| 14,969 14,125 844
= 5,987
Al 8,982
M ORNZZ2NSE S 14,969 14,125 844
OLIAIEHE E o EH(198)
14,969,000 1 14,969
= 5,987
Al 8,982
AT 7= & 2H(3Y 136,888 216,094 AT79,206
= 3,942
= 1,774
Al 131,172
201 er23| 135,408 214,44 AT9,086
= 3,350
[ 1,508
Al 130,550
01 At2t2lt] 135,408 214,494 AT9,086
Ott2d)| gz (AHIRES)
127,032,000 * 14| 127,032
Out=8 stk 541 8,000 267 M 2,136
= 854
S 385
Al 897
OLr28stE JHRIAISHEH]
390,000&*16H 6,240
= 2,4%
= 1,123
Al 2,621
202 04t 1,480 1,600 A120
= 592
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< 266
Al 622
01 2LHoIH 1,480 1,600 A120
Ott=dlsl 2SH| 20,0002 ~74¥ 1,480
= 592
S 266
Al 622
SAEXEHA F= & 2H(X2) 2,600 2,600 0
= 1,040
== 468
Al 1,092
201 223 2,600 2,600 0
= 1,040
=S 468
Al 1,002
02 s3=gHl 2,600 2,600 0
OsE2= & HA 2,600
~UEFIX ZHAILE 018
130,000 +20CH 2,600
= 1,040
== 468
Al 1,092
BAETE =HE 417,970 1,227,306 809,336
= 165,316
== 53,140
Al 199,514
SRR H A2 EX) 116,910 317,991 A201,081
= 59,703
= 17,161
Al 40,046
101 21A4H| 24,410 23,621 789
= 12,203
= 3,661
Al 8,546
04 JIZtNZ22 NS+ 24,410 23,621 789
O&HE R ZAIH(1Y, 4SS EE)
24,410,000& *1 24,410
= 12,203
= 3,661
Al 8,546
201 er=23y| 16,612 37,931 A21,319
= 8,306
= 2,492
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el BASad S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 5,814
01 AtR2t2|HI 16,612 37,931 A21,319
SIMIINES 22HI(3Y)
16,112,000 * 14 16,112
= 8,056
= 2,417
Al 5,639
OLS T ZAE 228I1(1F)
500,000 *14] 500
= 250
= 75
Al 175
301 LEtE NS 2,500 6,158 A3,658
= 2,500
11 #AIAMHIXIE S 2,500 6,158 A3,658
O=IHIINES u=t|
500,000 +3& 1,500
= 1,500
OLHTHE AR W=
1,000,000& %1 1,000
= 1,000
401 Al HIZ 2018 73,388 250,281 A176,893
= 36,694
[ 11,008
Al 25,686
01 Al&HI 73,388 250,281 176,893
OsIHIIHES(3Y, AUEE )
73,388,000 x 14 73,388
= 36,694
[ 11,008
Al 25,686
R ) 244,573 738,751 A404,178
= 86,786
< 26,037
Al 131,750
401 Al HIZL S 0HYI 244,573 675,226 430,653
= 86,786
=S 26,037
Al 131,750
01 AlZ8| 232,422 641,886 409,464
OO{2ILHRIt71(30ha)
48,426,000 x14] 48,426
= 24,213
=S 7,263
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HMEE
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OXEXAIZ 22| (EHID] S 70ha)
112,996,000 * 14!

OFRE2¥ HYZ M AL (100ha)
92,000,000 * 141%50%

Oy A2 FHIAM (50ha)
1,000,000 #50ha*50%
02 Zaltl
O EILISIHRI| 22l
52,071,000 *7%

OXEXAIZ 2| Zeld
121,502,000 * 7%

hoH

=

Mho

=

16,950

112,99
56,498
16,950
39,548

46,000

25,000
12,151

3,645
1,822

548
1,275

8,506
4,253
1,276
2,977

A21,189
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o

Mo

=

29,367
5,267
7,230

16,870

48,19

A18,832

401 AIEHIYL 20

o

=

29,367
5,267
7,230

16,870

18,832

01 AlZH|

O2us 324xE(4ha)

29,367,000 & x 14!

o

=

29,367

29,367
5,267
7,230

16,870

48,19

N18,832

OIMIEX Mg S SU=ot0|

o

=

27,120
13,560

2,712
10,848

122,365

A9, 245

401 AIZHIZ 20

mhoH

27,120
13,560

2,712
10,848

122,365

295,245

01 A&l

25,221

113,79

N\88,578
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EAESR 25 CCE-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ODIMSRINZ & SA&EIHII(10na)
25,221,000 x 14 25,221
= 12,610
S 2,522
Al 10,089
02 Zeltl 1,899 8,566 N\6,667
OOIMRIXIKZ § BRIl L2l
27,120,000& 7% 1,899
= 950
S 190
Al 759
AABIASE 233,637 258,123 N24,486
= 12,000
Al 221,637
SIS XA 40,000 40,000 0
=S 12,000
Al 28,000
201 et 3| 12,000 12,000 0
< 3,600
Al 8,400
01 Al222lH] 12,000 12,000 0
0220 7152 22| A28 7Y
50,0002 *4E+602] 12,000
= 3,600
Al 8,400
206 MH=H| 12,000 8,000 4,000
=S 3,600
Al 8,400
01 M=8l 12,000 8,000 4,000
O=30 JIlsu= S &
100,000 x65+202] 12,000
< 3,600
Al 8,400
301 EtE N = 16,000 20,000 24,000
= 4,800
Al 11,200
14 DBt 2 a3 16,000 20,000 24,000
S30 JIsUs A =&
4,000,000 »4H 16,000
== 4,800
Al 11,200
gt SMHENS S tel 193,637 218,123 N24,486
101 @124H| 117,345 114,262 3,083
M JIZtHZ2 S E 117,345 114,262 3,083
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BH: MY KRS
Rl MESXIAHIASE (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=SSHHME N = A 117,345
-Jles 78,8803 x4 *2502 78,880
EEay 78,8802 #4250 16,408
~2hAlY| 2,000 +42§*2502 2,000
-S| 50,0002 x424+ 122 2,400
MBI DB E A
120,5202 x4« 12& 5,785
-=2d=s 105,473,000 +4. 5% 4,747
A2 105,473,000 +3.545% 3,740
-AIRYEE 3,740,000 *12.81% 480
-1ELE 105,473,000& *1.75% 1,846
—SEE 105,473,0002 *1.004% 1,059
201 fer=3| 69,002 69,561 A469
01 AtR2t2|HI 25,976 27,273 A1,297
OSHSIUET NSBE S 428 7Y
200,000 * 122 2,400
OoZet=All EH Fd
150,000 *1CH*4 S+23] 1,200
OHMEd 4 « 3134 225 2L(SFA
s) 200,000 * 122 2,400
OXlEtE &I =8
35,0002~ 12& 420
Od=J| Stz 22,0002 x40 123 1,056
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